(BIR2) #KEHRELE

6458238 R
JOHSE | meris FMmRERLE e SN AP B BRE
I B - 78R Iz B BERE=12.8, T AIIIFRE=7.5, BENIGFRE=(9, 11.5), AE R [ KL 5],
FERIIFE=279, {RE)IFE=121, RRIIGRE=(9, 72.7) BENPRIES-LO],
ERNFE=19.3, (WEIFEH=15, RRNFPREH-2RK],
B I5RE=29.7, KiT)IFRE=2.6 AENAKRERIILERFR-ERR]
KT WEIFRE=347, BEh)IRE=146, KA 5RE=(10, 6), HBENPRES-FR-LAT,
KPR FREE=7, U#E)IFRE=30, mENIRE=(12, 27), RRINPREH-2E]
HIIFRE=23.1, K& )IIFRE=11.8, R&NFRE=(10, 11.6)
RIFI=9.4, B)IIFRE=83
PET ZR)IFE=108, BEllRE=147 — AENpFR[KIL- 5],
BENPRIES-FE],
RERNPRIEEH-2RK],
AENTRIKSERF],
RRITRIRREF]
EHET WE)IFE=165, BIjRE=81 — ASNpFRIRIL- 5],
RRIIPREH-2E]
R FERIIKE=122, BHIIFE=168, — —
HE)|Rt=28.8, #I5)I;7E=20.9
miEm X EIRE=24, BIRE=15, — HBENPRES-FR- LA,
EANIFE=6.2, 2F)IlE=10 RRIPREH-2E]
AE™ RERARE=24.1, BElllRE=6.2, — BENPRES-FR-LAT,
HEFE=9 RRIPREH-2E]
wiET WIRR)IFRE=9.1, ZE)IFRE=14 - EENGDRIES-BA],
RRIIPRERE-2R],
AENTRIAERF],
BENTRISE]
RRITRIERRF]
s R T BIkiE=13.6 - ARENPFRIRL-FHR],
RRNPR[EH-2R]
S HAHT BEIFRE=14.1 — ARENPFRIRL-FR],
RRNPR[EH-2R]
EE0) EEIFE=13.7, %REIIFE=37, — BENPRIES-FE],
A=)IFE=8.2, £F)IIF15=9.2, RRNIPRIEH-2RK],
MR FRE=32.2, #8)115%ig=27, BLNTRISE]
&8 )I5kE=44, B)IRE=9.4
FEHET FIIFE=225, &) FkiEH=8.6 ERE=(8, 1.7) -
B84 [RET %ﬁaggﬁ:m, S BRE=9, — —
B)IlFtE=11.2
AT EEHIRE=54 — BENPRIES-BFR-LA]
i 2 PET WA =37, KFNFRE=141 — BENPRIES-FR- LA,
ERIRERE-2RK],
BENTRISE]
RRITRIERRF]
=/\BT ENIGRE=11.9 — EE)NGR(ES-BA-1LAO],
RRNPRIEEH-2R]
1B )18 REIFRE=47.9, B)IRE=103, — BENPRIES]
FFRE=30.1, E#)IIFRiE=12,
WA FELE=21.8, K& )IFE=10.2
KErHT =KINFRE=11.6 — BENGRIES-FR-1LA]
st FRET RN FRE=14 — BENPRIES]
L AET B )IRE=9.8 - EE)IPRIMS-BH-1LAO],
RRIpREEH-BE]
gV ZAR™ ié%ggﬁt:m, ERIIGRE=11.4, — FERNI[LE-2ER]
1)1 Fte=11.3
i) AE)IIFRt=75.6, F01MA)IFE=8.4, FE#IIRE=(6, 9.6) —
FIARIFRE=18.4, FB#IIIFiE=105,
— 2B FRE=5.9, {+&0)I15R=25.7,
R ) FRig=23.2, JIl £)IIFREE=11.4,
sV FRE=6.8, BJIIFitE=14.5,
FEIFRE=5.3, @Y EIIfE=6.9
iR T )11 REE=21.8, /MR )IFRE=20.4, — —
gggaigé;ﬁw:n.« RMUIGRE=5.2,
& )15R18=79.9
T KRN FREE=48.7, E4T)I5R15=315, LE#IIGRE=(6, 28.3) -
=R FRE=18.4, /NR)IFRIE=T.5,
k2 BAR)IGiE=9.6, KEJIFRE=79.6,
5 )I5RIg=10.6, FIARJIIFRIE=28.1,
A)IFRE=6.5, =M)IjiH%=6.9
Tt ER)GRE=12.4, IBE)FtE=134, - PRI L 5]
BRI FL=58, (FE)II Fls=5




(BlsR2) kg

6458238 R
e | maiE T gang" AR P I S H R
g B ERNIFRE=32, RE)IFRE=29.7, R FRE=(18, 30), RENKRERIILEFRGFR-ER]
WREII5RtE=37.2, REER)IIFE=8.1, HRER) 1| FRts=(8, 33.4),
INIREE)I R IE=14.2 RRIJIIGE=(8, 62.1)
ER™ HRER 11 tei=40.7 RRIIFE=(10, 62.2) AENKRERINERIFFR-FE]
ERmzET gggmiﬁgzm ﬂ%.%;m;,;ﬁg:n.s, — AENFRIFIE]
JIGR =9.8, JIENIF =13,
KAl Filsize.4, tHE NI Fiisi63
DE zbﬁgmizgm, 1515 E=7.9, ] B Ri=(8, 16.1) AENPR[SE]
RFNIGRE=12.7
#EH FEJIFE=232, BAIFRE=173, BA)IFRE=(8, 14.8), —
EBIIIFit=458, £EB)IFEH=231, RRIIFE=(18, 43.1),
HHEIIFRE=27, 4£E)RE=184, S &Rt 1| 5TE=(8, 5.8),
Bﬁf;m}zm;,.:g:n.n %:itémsﬁgze.s, INEBEEJIRIE= (10, 10.7)
INEBEE)IRIE=10.7, #EBIIFE=6.1,
ﬁﬁ@miﬁﬁ;&:m "
IR AT N FRiE=8.3, B IFRE=10.1 - AENPR[SE]
=/nET ERIRE=29.6, )IG#E)IFRE=14.4 — -
JI3 8T BRI 1=73.3 — —
HRET FREE)I k=731, MR IFEk=18.8 — —
I\EZHET AEIFRE=81.2, k2 )IIFE=8.3 — —
B J11E7 iﬁ%uﬁlgtﬁ:ﬂ%%i@ﬁ:zz& 2IIF1E=(14, 12.3) -
FrIFRI%=20.5, E)IFRiE=13.7
EX=TIES BJI15R15=20.6, 1/ )IIF715=6.3, — —
KEA#)I1137715=6.6
HEERT AEFRE=81.1, AIRJIFE=7.3 — —
FReEEIL AR TR &R IGRE=38.4, =Il;tiE=20.2, =)I7RE=(6, 18.1), B IKRENE)IKE]
MR)IFeigi=24.6, Feig)iliigi=16.9, )= (6, 8),
FRITNRE=7.3, ME)IFRE=8.9, JILE) = (6, 20),
INNE I FEE=20.6, )1 E)1FRig=22.3, WA= (6, 7.3),
WANRE=8.2, §8)ikiE=54, B IFE=(6, 6.4),
BNIFRE=7.2, KINB)IFRE=125, KINENRsE=(14, 12),
WO RE=4.4, T4 F)IFRE=4.2, waiFRE=xo, 4.1),
FENGRE=22.3, #1F %) FRig=15.6, I FiRiE=(14, 36),
%Euli}iﬁg:m.& Tt )| Frti=16.6, %ém;}ifgz(m, 12),
7“5]”5)”. =4.8 %JIIEM =(6, 4.3)
REE™ BR)IIFE=42.6, =)IljtE=44.3, = I FtE=(5, 39.8), #E)IKRENE ) KE]
/l\iJI:iﬁﬁzZlS,ﬂiﬁ%ﬁJgﬁﬁ:g.s, /I\;%IH:E,E%:ES, 24,)5),
FilFiei=0.8, BJIIFt=1238, T FR=(5, 17
KSTIFeti=s, 3ol Feish=18.9 &
B+ ElFRig=44.8, $5)IIFRi5=13.4 — —
FREERIER Tam FREE)IIFRt=62.1, B#IIFatEE=256, )1 5RE=(8, 23), ARENKRAEN[LZ]
PAFNE)II5R18=12.9, PrIRJIIFRE=12.2, ReiRRE=(8, 6.5),
ﬁul;ﬁifé@g, %m;z(lgﬁ%:g.s, INR)IR=(8, 17.1)
4R IFRE=7.3, BiiE=68,
MR FElR=19 "

Y (REREEY AEFEER ORASOEICIIREEERLTVET,




